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Question: 1 
   
Which NetApp Cloud Manager add-on service enables you to back up on-premises volumes and NetApp 
Cloud Volumes ONTAP volumes to object storage? 
 
A. Cloud Insights 
B. Cloud Backup 
C. SnapLock 
D. Cloud Compliance 
 

Answer: B     
 
Explanation: 
Reference: https://docs.netapp.com/us-en/occm/concept_backup_to_cloud.html#limitations 
Cloud Backup is a service that enables you to back up and restore data from on-premises or cloud-based 
NetApp storage systems to low-cost object storage. It supports both NetApp ONTAP and NetApp 
Element software.  
Reference: 1 https://docs.netapp.com/us-en/occm/concept_backup.html 
 

Question: 2 
   
You are helping to deploy a new cloud application. Over time, cloud resource requirements will likely 
grow and could become costly. Your manager asks you to collect cost data and determine how to 
optimize costs. 
In this scenario, which NetApp product would enable you to fulfill this request? 
 
A. Cloud Compliance 
B. Cloud Volumes ONTAP 
C. Cloud Volume service 
D. Spot Cloud Analyzer by NetApp 
 

Answer: D     
 
Explanation: 
Reference: https://spot.io/products/cloud-analyzer/ 
Spot Cloud Analyzer by NetApp is a product that helps you monitor, analyze, and optimize your cloud 
infrastructure costs across multiple cloud providers and accounts. It provides visibility into your cloud 
spending patterns, identifies cost-saving opportunities, and recommends actions to reduce your cloud 
bills. Reference: 2 https://spot.io/products/cloud-analyzer/ 
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Question: 3 
   
Your company has decided to move an on-premises application to the cloud. The application's data is 
currently stored locally on a physical Red Hat Enterprise Linux (RHEL) server. 
Which NetApp solution would be used to migrate this data to an Azure NetApp Files volume? 
 
A. SnapVault 
B. Cloud Sync 
C. SnapMlrror 
D. AzCopy 
 

Answer: B     
 
Explanation: 
Cloud Sync is a NetApp service that enables you to synchronize data between different sources and 
targets, such as on-premises file servers, NFS or CIFS shares, cloud storage services, or Azure NetApp 
Files volumes. It supports various protocols and formats, including RHEL servers. 
Reference: 3 https://docs.netapp.com/us-en/cloud-sync/index.html 
 

Question: 4 
   
What are two main benefits when configuring Advanced Disk Partitioning (ADP) on an AFF or FAS 
system? (Choose two.) 
 
A. Increases deduplication efficiencies. 
B. Reduces the RAID parity overhead. 
C. Decreases disk failure rate. 
D. Optimises storage capacity. 
 

Answer: BD     
 
Explanation: 
Advanced Disk Partitioning (ADP) is a feature that enables you to partition each disk into two partitions: 
one for data and one for root aggregates. This reduces the number of disks required for root aggregates 
and increases the number of disks available for data aggregates, thus reducing the RAID parity overhead 
and optimizing the storage capacity. Reference: 
https://docs.netapp.com/usen/ontap/concept_adp_overview.html 
 

Question: 5 
   
Which two statements are true regarding an ONTAP Select deployment? (Choose two.) 
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A. Multiple nodes from a single ONTAP Select cluster should not run on the same hypervisor host. 
B. You can add an ONTAP Select node directly to a NetApp engineered hardware ONTAP cluster. 
C. The hypervisor host is running either VMware ESXi or Red Hat KVM. 
D. Each hypervisor host within an ONTAP Select cluster can run a different version or release of the 
hypervisor software. 
 

Answer: A, C     
 
Explanation: 
A is true because running multiple nodes from the same cluster on the same host can compromise 
availability and performance. C is true because VMware ESXi and Red Hat KVM are the supported 
hypervisors for ONTAP Select deployment. 
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